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ECONOMICS HSSC-I Y
SECTION — A (Marks 20)

Time allowed: 25 Minutes | Version Number [3 1[4 1|

Note;

Section — A is compulsory. All parts of this section are to be answered on the separately provided
OMR Answer Sheet which should be completed in the first 25 minutes and handed over to the
Centre Superintendent. Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1

Choose the correct answer A/ B / C 7D by filling the relevant bubble for each question on the OMR
Answer Sheet according to the instructions given there. Each part carries one mark.

1) Which of the following statements is related fo positive science?
A Rich people should be taxed
B. In order to reduce poverty, government should raise the income level of poor
C. Agriculture sector is the largest sector of Pakistan's economy
D. Nestle ought to reduce the price of MilkPak to attract customers
2} Lack of resources in relation to demand is called:
A. Supply B. Demand = C. Scarcity D. Desire
3) The utility which is derived from the consumption of an additional unit of a good is called:
A Total utility B. Marginal utility C. Average utility D. Negative ufility
4) Total utility reaches its maximum when: :
A Margina! uittity equals total utility - B Marginal utility is positive
C. Marginal utiiity is zero - D Marginal utility is negative
5) The willingness and ability of a buyer to purchase a good is calied:
- A Supply B. Demand . C. Scarcity D. Desire
8) Given the equation y = —10+2x . the slope of the equation is: :
A. ~10 B. 2 ‘ C. -8 D. -12
) Which of the following is a demand equation? -
A 0=-10+2P B. O= 10+2P" C. 0-2P=-10 D. 0+2P=10
8) In a function, a variable whose value is determmed by the values of another variable is called:
A Centinuous variable i B. Discontinuous variable
C. Dependent variable oD, Independent variable
9) Which of the following would not shift the demand curve for a good?
A A change in income A
B. A change in the price of a substitute’ good
C. A change in expectations about the price of the good
D. A change in the price of the good
10) A 10% decrease in the price of milk, brings a 5% increase in demand. The elasticity of demand in this
case will be:
A Lesser than unity B. Greater than unity
C. Equal to unity D. Equal tc zero
11) [f other things do not change, an increase in price results in an increase in quantity supplied. This is
Known as:
A, Law of increasing return B. Law of diminishing return
C. Law of supply D. Law of demand
12) A market is in equilibrium when: :
A Demand is greater than the supply B. Demand is lesser than the supply
C. Demand is equal to supply D. Demand is equal to zero
13) Short run is a time period in which:
A The size of the frim/plant can be altered
B. The amount of output is fixed
C. The units of all factors of production can be changed
D. The units of some factors of production remain fixed and the units of other facters can be changed
14) The marginal product of labour is the change in total product resulting from one-unit increase in:
A The wage rate B. Total cost
C. The quantity of labour D. Average product
15) If fixed cost is deducted from fotal cost, we get: :
A Marginal cost  B. Average cost C. = Variablecost D. Profit
16} Average cost is equal to total cost divided by: '
A Fixed cost - B. Total output
c. Number of workers D. Variable cost
17) Marginai cost is equal to average cost when average cost:
' A. Reaches its maximum B. Reaches its minimum
C. Is negative D, Is zero
18) Which of the following is a characteristic of a perfectly competitive market?
A A few large firms
B. Firms producing specialized products in order to attract consumers
C. Each individual firm having some control over the market price
D. A large number of small firms
19) The reward of entrepreneur is called: 4
A Profit B. Rent C. Interest D. VWage
20 Who infroduced the concept of qausi rent?
A.  David Ricardo B. Adam Smith  C. Marshal D. Keynes
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ECONOMICS HSSC-

- Time allowed: 2:35 Hours Total Marks Sections B and C: 80

““NOTE: Answer any fifteen parts from Section ‘B {a)’ one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

e

' o : SECTION — B {(Marks 50)

Q.2 a Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
e {15 x 3 = 45)
o (i) Human wants have a major role in all economic activities. Give any three characteristics of these.
: (i) Economic laws are not as exact as the laws of the natural sciences. Why?
- (i) Why an indifference curve is downward sloping? Explain briefly.

iv}) Write down three characteristics of Utiiity.
V) What is a Variable? Differentiate between a continuous and a discrete variable.
vi) What is Primary data? Indicate any two sources of Primary data.

(

(

(
- {vii) What do you mean by movement along the demand curve? Explain briefly.
o (viii)  Whrite down any three factors which determine the elasticity of demand.

{

ix) Derive the functional equation of supply using the data of the given schedule:

oo Price Quantity Supplied
e 5 12
' 3 18
L () Show the effect on equilibrium price and quantity with the help of a diagram if demand and supply rise

S equally.
o (xi) Discuss any three factors which affect efficiency of labour.
{xii) Why is land different from other factors of production? Explain briefly.
g (xil)  Write down any three economies of large scale production.
o (xiv)  Differentiate between Marginal Product and Average Product of labour.
{xv) Show the Fixed Cost, Variable Cost and Total Cost Curves in a diagram.
{xvi)  Why Average Cost Curve, in the beginning falls, reaches its minimum and then rises?
R (xvii)  Draw the Total Revenue, Average Revenue and Marginal Revenue Curves under Perfect competition.
o {(xviii)  Under Monopoly how is ‘Marginal Revenue' different from ‘Average Revenue’?
(xix)  Write down any three characteristics of perfect competition.
o (xx) Name any three factors which determine real wages.
— (xxi)  Differentiate between profit and interest. ‘
b. Attempt any ONE part, _ {1x5=5)

- (i Differentiate between Microeconomics and Macroeconomics.
= (i) Enumerate five benefits of large scale production.

. S : SECTION — C (Marks 30)
" Note: Attempt any THREE questions. All question carry equal marks. (3x10=30)

-~ Q.3 "Economics is the Science of Scarcity and Choice”. Explain.

Q.4 Expfain the Unity Method in the measurement of elasticity of demand.

G.5 Why should a firm under perfect competition continue operating its business in short run aithough it is facing
losses? Explain with the help of diagram. .

... Q.6 Critically examine the “Theory of Rent’ presented by David Ricardo.
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